K h7E AABS H1, £ SAB=30°, 2 ABS=60°,

fr Ll 2 ASB=180°- ~ ABS- ~ SAB=180°-
60°-30°=90°.

60x(11-8)=180(F % ).

frLL AB 180 FoK.

M fRERE(Z)

21.f%. (1) LAOB= ~BOC+ L AOC=60°+
58°=118°,

HAMA A 180°- £ AOB=180°-118°=62°.

(2)@EH oD ¥4 £BOC,0E 43 LAOC,

W71l £ DOC= £ BOD=3- £ BOC=5-x60°=

30°, LAOE= LCOE:% £ AOC=x58°=29°.

@ £ DOE 5 2 AOB RH#h.

PR : [k ~ DOC=30°, 2 COE=29°,

frA ~ DOE= 2 DOC+ 2 COE=59°.

LA ~ DOE+ 2 AOB=59°+118°=177°,

i ~ DOE 5 2~ AOB IS H#b.

22.fi#.(1)65,65.

(2) LACD+ ~BCE = ~ACB + ~DCB +
£ BCE=90°+65°+25°=180°.

(3) AL B UNR

& LACD+ £BCE=~ACB+ ~DCB+
£/ BCE=/ ACB+ £ DCE=90°+90°=180°,

JF LA 2454 £ BCE=25°", (2) iy 45
WA L.

23.f#. (1N £a=328, Lat+s3=90°,

JT LA 32 B+ £ B=90°.

JiTLA £ B=22.5°.

M £ CAE+ /£ a=90°,

Jiik 2 CAE= £ B=22.5°.

() B IR

15 £ BCE [WEEECH «, M

£ ACE=90°-x, 2 BCD=60°-x.

IR A

90°-x=2(60°-X).

firt 45 x=30°.

LA £ ACD= £ ACE+ £ ECD=60°+60°=120°.

i BEE(Z)

24 .f&. (1) K oCc ¥4 L AOB,

7t B £ AOC=3- £ AOB=30".
KM 5+4k OE,OF 4 L AOB Ay =4543k,

L AAOE:% / AOB=20°.
Jrlk £ EOC=2AOC- £ AOE=30°-20°=10°.
(2)H°h oC ¥4y £ AOB,

BT £ AOC= - 2 AOB=45".

R M 5+4E OE,OF &t L AOB Y = 45434k,
FFLh £ AOE=3- £ AOB=30"

JIf1Yh 2 EOC=/ AOC- 2 AOE=45°-30°=15°.
(3)E 2} oc ¥4 L AOB,

B4 2 AOC=5- £ AOB=5-.

KA 44k OE,OF J& 2 AOB I = 55434k,
ffll £ AOE=L- / AOB=%-

-3 =3
L LEOC:LAOC-LAOE:E——%%—.
25.f% . (1)85.
2)DMEDOHTR :

A

B
D
M P N

(% 25 #AD)

A4 PB *F-43 £ CPD,

L4 2 CPB= 2 BPD=3- £ CPD=30"

F LA 2 APC=/ APB- / CPB=45°-30°=15°.
i 2 MPN=180°, 15 10°t+15°+60°+2°t=180°.

. 35
AT t= 7

%5 t= 32 BT, 1 PB -5 £ CPD.

QAL tAD, 0] £ APM=10t, £ DPN=2°t.
24 PA £ PC ZEflli , EI @R,
A B
C

M P N

(% 25 #HBQ)

I, 2 APC=180°-10°t-60°-2°t=120° -
12°t, / BPD=180°-45°-10°t-2°t=135°-12°t.

4 £ BPD=2 £ APC,Jl| 135°-12°t=2(120°-
12°t) fi#4% tzi—?’.

24 PA 7£ PC AU, ANEIFTAR.

IR, 2 APC=10°t+2°t+60° -180° =12°t -
120°, / BPD=180°-45°-10°t-2°t=135°-12t°.

A

M P N

(% 25 MAB)
¥+ 2/ BPD=2 2 APC, ] 135°-12°t=2(12°t-
120°).
125

4E
it =55
ek, =2 w12 pr,
£ BPD=2/APC.

% 18 HA

2~3 kil
— AR
1~5.DBBBB  6~10.ACACA
ZEET

11PN — A HER

12.L05Ly> LB 13.24
14.105 15.3
16. D@ 17.40°
= BEH(—)

18.(1)133°22'15"5(2)180°.
10,18 W BN x AR 15 5+

90°-x+180°-x=180° fi#- 15 x=60° i LLiX 45 ffi
£ 60°.
20.f% . A4S 20 /Y F- 161 DR , wT 0k 4> JL
AT T — AR, R iR — A
K I RHIAT N : 30x25%x40=30000( cm?) ,
BHEARIIATLN : 3.14x10%32=10048(cm?).
BT LAz JUART 1A i 45 : 30 000+10 048=
40048 (cm?).
 fEEE ()
2152 . FEDT H 8 AR RMHSLAY SR IT I, 1

5 o g
B0 T

LS ]

il
I
]

[]
[]
R

(1]

225#.(VDIK}y 2 AOB Fl1 2 COD #kJ& 2 BOC
W4 ff, FrLl £AOB+ £BOC=90°, ~ COD+
£ BOC=90°.f L ( L AOB+ ~BOC)+( 2 COD+
/.BOC)=180°.iT A ~ BOC=180°- ~ AOD=180°-
130°=50°.

(2)[A% 2 AOB 5 £~ COD #BJ2: £~ BOC HI4x
i, 2 BOC=50°,

T LA 2 AOB=90°-50°=40°, ~ COD=90° -
50°=40°.

[H % OE,OF 4%/ ~ AOB, ~ COD HJF

F7 Ll / AOE= 2 / AOB= 1 x40°=20° ,

2 2
_1 _1 _
£ DOF=3- £ COD=%-x40°=20°.
fr A LEOF= LAOD - ~AOE - ~DOF=
130°-20°-20°=90°.
23.f# . (1) ME PR :
A M Q N B
(% 234H)
()N Q J2ER B MN I A,

JF LA NQ:;—MN=1.

"% BN:;—BM,@?LJ BN=MN=2.

FrA BQ=BN+NQ=2+1=3.
(35 Q ALEL MN myH &, BTk MQ=
1

Z—MN:LAM:SMN:&%J,%'; PJIELE AM 1)

H L PM:%—AM:&H?LJ PQ=PM+MQ=3+
1=4.

i BEE(Z)

24 f#%.(1)68°;2m°; £ BOE=2 £ COF.

(2) AL BN

& £ EOF=x.IAl OF *V-43 ~ AOE,

FrLA £ AOF= £ EOF=x.

FrlA 2 BOE=180°-2x.

[X>k 2 COE=90°,

fF Lk £ COF=90°-x.

ff Lk 2 BOE=2 £ COF.

(3)FFTE.

[A & ~ COF=65°,

FrlA 2 BOE=2 ~ COF=130°.

Bl LAOF=%(180°—LBOE)=25°.
A2/ BODH/AOR:A( / BOE- 2 BOD),

FFL 2480D+25°=%—(130°—LBOD).
JirPk 2 BOD=16°.
2

25 fi#. (1) DP=2PE K, DP=3-DE=10cm;

4 2DP=PE fif, DPz%—DEzscm.

2 LTk : DP B9 4 5em B 10cm.

(2) ORI, 15 (1+2 )t=15.f# 15 t=5.

M t=5 BT R P HE QER.

@D/ P,Q EATH: X4 2AP=PQ A, H t+
2t+2t=15.f#1F t=3.

24 AP=2PQ I, 1t t+2t=15 M5 t=3

(DA P,QEAJG, X AP=2PQ A, A t=
2(t-5) f#1% t=10.

M 2AP=PQ I, 2t=(1-5) f#F t=-5( R
SME A,

25 F ik Y t=3 19'37—0?/'32 10 B,
P ELRBL AQ M =554 .
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HZE- I HRKEER(AH
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33fF—TT—RAE(Z)
—EXEE5ENE
£ 1i8m
1D 2B
3.(1)w=7;(2)x==5;(3)x=4;(4)x=-1.
A58 BEE =B ETRALECR X, 5=
PEBCE 10x+1, = AiCH 100x1+x. AR
=18
2(100x1+x)-15=10x+1.
fifS x=23.
BT LA =802 1020+1=10x23+1=231
2R =k 231.
& 2 gt
1D 2.A

3.(1 )x=if5;(2)x=—%f.

458 PG 15 x=2 I FEx-2=-x+
a-1 [1fi#.

8 x=2 fCA TR, 15 0=-2+a-1.

i1 a=3.

B LA Rl 52 ==y,

£, 1% x-2=-x+3-3.

B, & 9F 2, 13 2x=2.

RBAL N 1,45 x=1.

£ 3 IRAt
1.8
2.(1»:-%;(2»:?;(3).@:9.
% 486t
x 25-x _
LA+ B

208 I x KAHIE,

g X | X g gem 63
AR, 155 *9 1A#AT x 16

5 23 x=00 FAM.

3f% . (1)1% 2018 A FHZ EESL T 2 XY,
N ZFHESEEET (11 000-0)RL.

iR Iy= e

6%x-5%(11 000-x)=11 000x2%.

fi#4% x=7 000.

2 :2018 4EH FMZ ZhEESE T 7 000 XL, W
CHMHEEESZ T 4 000 3L

Q)EZ A y & TN, WA= B Flizg )

BERGAHON ( Sy-16 ), 2722 Bhiz sl A

HOR( 5416 ).

6(%y—16 :4(;—y+16)

%45 y=60.

AT A TN 60 A

3~4 hR

— JEFR

1~5.DBACB 6~10.CBBBD

Z E=E

11.8x-4+2-20x=1  12.12
10x-40 10x-20

B0y =8

14.1 15.-2
5

16.¢ 17.-8

= BEE(—)
18.(1)x=-13; (2)x=6.2.
19.f% . Kk 2-3(x+1)=0,

B LA x=- 5
IR 5 2-3(x+1)=0 A5 6T x 1

IR I g o=ox MR IHIRAL,
FREASET x H i KX ak-2=0x i

_1
X= 3"
k*% 2
T LA 5 -3k-2=732
AT k=-1.

2088 BAFAEKRERY x, 0 x-X5L=7- 223,

5
£, 15 15x-5x+5=105-3x-9.
f#AT x=7.

W x=7 S RIFLA, 5 x_%lg_ﬂ:

3
5,7—%_7-%:5,x2-6x-2:72-6><7—2:5.
R FHHESIE R 5, WAL AR
X» 24 x=7 B =A TR EIIATEE.
M R (D)

m.ﬁ@:)ﬁ%ﬁ&mm;x-g-i-i-i-

478716
X _
=l
o T X XX X X
e R T XX XXX
S XXX X g X XX g X
Ly g 167327 8 16 32 11 16
X, X _
327k 3L
At x=32.

228 (DE x=1 fEA 2-2X—37“=3a+2x,1%~

2+%:3a+2.ﬁ’ﬁf'f a=2.

9
() a=%1%/\Jﬁi7ﬂiﬁ
2x-4 _ 2
2- 3 -3 -2X.

F50 1,15 6-(2x-4)=2-6x.

E455 1% 6-2x+4=2-6x.

I, 15 -2x+6x=-10+2.

AR, 15 4x=-8.

REL N 1,15 x=-2.

2388 . iz T B 1 B T AR HE K
B x b, 2 x>12, W/NHZE A B KT K
12x1.5=18( ).

F 4 18 /NF 20, FIFLA x /NF 12,

R R4 AR

1.5x+2.5(12-x)=20.

fit 45 x=10.

BT AT B 1 4 P 4 1 A it K R
10 i,

h BEEZ)

24.f#.(1)1©3=1+2+3=6.

(2)fF7E.

B 0 nO8=n+(n+1)+(n+2)+ - +(n+
7)=8n+28, H n©8=60,

JrLA 8n+28=60.

f#15 n=4.
258, (DRUER ] 7] 2 |-
(=1)x2=-1+2=1.

(2OMPFEEZ 15 2x-(1-x)=0.
EH55 1% 2x-1+x=0.

Exmsam L2 30) AR

B A FERIZE, 15 3x=1.
RELN 1,1 x5
()M, 75 3(x-1)-2x3=-x-(-2)x1.
FEH55 15 3x-3-6=—x+2.
B A IR, 15 4x=11.
R0 1,78 x= 1L
$ 141
2 ki
34 LREB S —wT—k A
% 1iRmt
1.240
288 A x S5 ORI AR B A T AR
P 15
%:75% 50x=75(5-x).

fit 5 x=3,3x50=150( 7K ).

24 FLBERC AL 150 SR T

g (o). 2 B oty
CAER+Cors) A 8 /MM IO T A= -

fi RS LHER o A2 AN AR B
20 8(x45) :T_Wg Y

80 * 80

FrLA x+5=7(A).
| T%:ﬁ‘n@%ﬂk 2 N2 /N FEEHE 7 A8
JINESF

453 % B TREBATAET x K.

g O X g

16 24
fi#t45 x=6.
2B TREBATAET 6 K.
5L 1 1
16 710 ’ 20

RRFILEIL xSRI BT,

MR 1 T o).

AT x=7.

B T B BN,
5 2 iRkm

1.C 2.2000

2B LI < L

fi#A x=1 200. )
& BRI 1200 JC.
% 3 iRmt

YRR 15 (20— )x5-xx1=76.

f#AT x=4.

WA S T 4 TE L

(2)ANTTRE.

R B AZ XS Ty B8, A yx5-(20-
yIx1=72.

1 y="2-.

B2k y S IEAEEL, T LA AT fE.

% 4R mt

fi#.(1) Jy\— :58+0.25x(180-150)=65.5
(7).

X .88 L.

(2)1F7E.

P % Y R — 0 TE R E Y tmin B,
BRI 2 A %

5
=
o
i
-
=
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F1W



MR, 15 58+0.25(t-150)=88.

fitt 1% t=270.

2 M MySE 5B 270min
B, AP 2T B A A

3~4 AR
— JEEBE
1~6.BADAB 6~10.BBDDD
Z E=E
11.10.20 12.12—3
13.6% 148
15.1 200 16.9000
17.1.8 /It

= BES(-)
18.f% . BTt MR R LR IR B x TK,

e sn X 25 _ X
*E}Eu,wh»TSO

60 T 300 °
fif45 x=625.
B SR R A LR I B K 625 ToK.
19.% . 5« ikl & & AT (150-x) 5K
Tl &K,
FR AU, 15
2x16x=43(150—x).
fitAT x=86.
N 150-x=150-86=64(3K ).
% 86 kil & B, 64 Tkl B, AT LA
RS EZ D=g
2008 B I R x ik, D LR S
(650-x)7k.
HRYERRL , 15 47x4+5(650-x)=11 650.
firt45 x=200.
RS 650-200=450( 7K ).
8 IRERIR IS 1200 AT 450 K.
I fRER(Z)
2158 . (L)WH S IMLE.
MR 4x2+(10-4)x1=14,14<15, fif
DIAT M S e gE,
. (2)BEH BRI FERY B x 3, W67 1 (10-
x);.
PR, 75 2x+1x(10-x)=18.
45 x=8.
frd 10-x=10-8=2.
& PRI B 8 37, 11 2 3.
22 88 . (1) B A&HE T IIAR A x It
FR AU, 15
(390+x)x0.6=390+X-100x3.
fiftf5 x=360.
B X ST HIARN N 360 JC.
(2) W, ZHEmr3 A - (390+360)x0.6=
450(7L),
R 27 : 390+360-7x45=435( 7. ).
A 435 /T 450,
ST LAZR S AR N 2 A TN 1 A S e S B
2308 . (1B HIHE Jg xm, W 49 2 1R
7 (x+0.4)m.
FRAEUR 75
(4158-2158)(x+04)=(4308-1308 )x.
#3152 000x+800=3 000X.
fift45 x=0.8,0.8+0.4=1.2m.
JiT LAFRIEIE 1) JE 24 : 3000%0.8+3=800m.
R ERE N 1.2m, Z 19 FE N 0.8m,
B IE R JE KA 800m.
(2)HFRAE51, 10 2380 T 2000 25, T
B4y 200 4,
F A 2 4Ptk 28 25 4,
FTAE 1 s R b2 20 125 4.
BT A% 143580 2.8 200-12.5=187.5 4.
FTLA 3 000+187.5=16 434b.
il ahy 9:24.
i BEE(Z)
24 1% . (V) ZEB AR £ — Rk & 2%
A 3R REMAE
HAH R 1+242=5 (FL),1+2+3=1+

3+2=6(5T),1+3+3=7(L).

(2)PH°} 600+108~5.56, Jif LAl AN ] Rk
6 LA 7 JCXPIFINAR.

FAb kPR 5 JCH 6 JTCHFP RS, kR 5
JGIY x K, M 6 J0H(108-x) K.

MR, 15 5x+6(108-x)=600.

fift15 x=48.

T LA 108-x=60.

BT LA AR R 5 JCHY 48 K, AR 6 JLH)
60 K.

AR 5 SO 7 UMK, IEERE 5
JURG y K, 3k 7 J0(108-y) K.

FAfR 5 7 , 75 5y+7(108-y)=600.

fi# 1% y=78.

JIF LA 108-y=30.

%Ffruii?%%ﬁ% 5L 78 K, HK 7 0y

30 K.

25.f% . (1) Bk 145 /T 150, I £ 3K
BRI S,

Jr i 2L E 50 JC.

(2)B/INIH—FNAT AN xoT.

2 x AR/NF 50 H/MNF 100 B, AR, 15
X-25-[50+(x-50)x0.6 |=15.

15 x=150(4% ).

2 x A/NF 100 H/NF 150 B, A,
1% x-50-[ 50+(x-50)x0.6 ]=15.

fit 5 x=212.5(4%).

M x R/NF 150 B, AR, 19 x-75-
[50+(x-50)x0.6 ]=15.
fiA5 x=275.
275-75-15=185(70). A
2 N —FKSEBRAT T 185 JL.
%151
2~3 ki
— R
~5.DCBBA 6~10.BDACB
ZEEE
3

115 12.-5

_23 4
13x=4, 14.¢

3
15~ 16.64
17.2
= BEH(—)

2 1

18( 1)y:7 H (Z)X:ﬁ
10 fiz, 3Kt = 3L o

Fo 0 4% 2(k+1)=3(3k+1)-12.

£S5 15 2k+2=9k+3-12.

01,15 2k-9k=3-12-2.

A IFRIZEI, - Tk=-11.

Rl R 1,73 k=17—1.

20.fift - Pk B i 22 it A6 B o R A
B 2805 P s x TR /IR, USR] i A
e R P TR R (x-22) TR /N,

WL L1 1.2x:(1.2+%) (x-22) it

% x=110.

B R B B E R BT
R 110 Tok//Na .

o fREE ()

2108 . (1) — , 250 BERE, R Wi 3fe LA 45
SRR IR VAR, 5T IR ; —, RIE S AT,
PSRRI S N AR S /INES N
WiARAR S

10x-21  3x
(2)5- 5 =10

F58F, 4% 50-2(10x-21)=3x.

FEH55 1% 50-20x+42=3x.

01, 15 -20x-3x=-50-42.

A I FZEI, 15 -23x=-92.

RELH 1,15 x=4.

22,88 . (DR KTF x 4 (m+3)xm 1+

5=0 JE—JL—IK T2,

Ll m-1=1./#15% m=2.

(248 m=2 A7 72, 15 5x+5=0.

fiAS x=-1.

o x=1 ft Ay X203 o gy
-5+2n -n-3

3 ——g -L

5478 ,45 2(-5+2n)-3(-n-3)=6.

%355, 14-10+4n+3n+9=6.

BIiAH 14 Tn=7.

ZHAk R 1,15 n=1.

23.5% . (1) B/ BRI 3K SCHA% x4,
NSEPRIESE T (x+1)A4™

MR, 1% 10(x+1)x0.85=10x-17.

i1 x=17.

2 /N TR S SC HLAS 17 A,

(2) /NI AT WS AE y S, DU 3K 45 =7
Z£(50-y) 3.

46 A 3, 75 [8y+6 (50 -y )]x80%=272. fif:
% y=20.)1] 50-y=30.

8 /NTIESE T H5E 20 32, 55 30 .

24 8% . (DT WA XS B & AT
Z A,

._[1-13 0+15

(2)®%K{0+26 1-4 }
-12 15
[26 -3 }

@*E}Ex@%,ﬁ%;——mx—z):l.

55813 x-6(x-2)=2.
£S5 x-6x+12=2.
B4 9,15 -5x=-10.

15 x=2.
(R 0 A 2 % }e;[g Ej J
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_[brtay byta, |_[arth, as+b,
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W A+B=B+A.

25.f(1) B t BV, B AAHIA.

YRS, 15 3t+t=30.

fiftf5 t=7.5.

TS, C A XS BN - 10-75=2.5.

(2)BEHPLERAM B 2] A — IR ¢ P AR
5t A, 15 3t=30.

1S t=10.

i F 10-10=0,

T LA BERE AL 38 N 20 A AR B B 3 B B
0.

(3)¥% t Rl #2055 i (0 B s AL
ANH 5 JF BB 2 £5.

O BT s AR, AT 45

10+t=2(20-3t).
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i t= =

@Y B F S s A e, Al 45,
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fittf% t=10.
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42 Bk 5tk &
% 18mt
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% 2 igmt
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3.0 (DFESTZ AM, 12 5T 8 AM B
KA AC=CD=a;

(2)7E£8 B DA - #H DB=b, M Bt AB
KA.
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(% 34A)
8 3 iRAT

1.D
2.5 . HEH B3 ¢ MR ARG 2
[A] 28 Bt e 56 : AB+AD+CD>BE+EC>BC, BV I>
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— JEEFES
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ZEEE
11.7 12. H#HE,7,10,3
13.2 14/ (R 5 C)
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17.2688
= BEE(—)
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E (% 21418)
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H—Fl: 8L CFEAS B A,
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(% 2248)
A4 EF=BE+BF,
1 1

voepo 1 1~ 1 _
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S C RS B A,
|
A E C FB
(% 2241)
A5 EF=BE-BF,
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Fr A EF=5-AB-5 BC=73 (AB-BC)=

L (10-2)=3.
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23.f . (1)(1x3+1x2+2x3)x2=22(F 7 % ).
R TRIRUR 22 K.
(2) Bl — K R &+ iEFTR :

1k
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(% 234 7)

PRBN : 3x1x2=6( 57 £ ).

i BEH(Z)
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(3B MN WK EEAS & AR ARk, MN=5.#
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25 M . (1) WA HIVE—AJC 35 W 1E Jr 4
48, FF Y ¢ FIE &t IS be G 35 1F
TR A

()W Z S/ N BEH R SR B G
FE T IRARE G 5 R AR A
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QAW 5Y 2T — AR xem 1/
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